‘ Haesﬁ:giaaﬁra@i&ga‘&hg%
ensABCDERGadHS R e Mot £ i o

I @wgsamdﬁais-&mg’ _MH#}EBME“&GQ%?&&W
pebaesT s iieed 8 thes B2 OF C. mss&gaamﬂ:s-cmnsg
e COrmEssS - =2 -~
SBESARCDERGIERNT aﬁ?‘if%.é‘%af\ Imﬁ%%ﬁ“?zs D3RGS

S (==} - ®

- Eamhiae RASTSHSIS TR TSRy
TS aR TR eIaN e &
mAaCQEEG@HEmma%mﬁ%

> = N =%
oS B M AT SISOl E.G‘:gélﬁmiﬁ“

T GHIE DS gD

orpinlieiteagn NR3I%dncem
© G © = Q =8 @ c

2 mB‘mm&-sm\“ﬁmﬁe@tﬁﬁE'&mB‘mmg
& Tosiy @ Wednesday | ©Q Fdy . Sungay
aﬁméﬁqaﬁﬁmﬁWW%m
B T 0 =R

Q =W @ R
an—-ﬁémmﬁlammmeﬁaéﬁ?
@ Tes=s ® S Q == @ S5
3. Tieglaa“s:mrrbatl‘ali\ides’ss ﬁaﬂgmwasm&mﬁa@k
G 2 )5 Q s (@ Noneofthess
ﬁﬁmém4s-%zszé%‘—ﬁaaé%%zmas@t-@%ﬁ%ﬁ%%&%@aﬁ%
SHGe?
@ =2 ® 5 Q & @ THRISET
EIERe IR 5 W 2RI TR PRT2 3R TR S A A
3:
@ a ® S @ o @ f‘&m‘*%‘é@é?@
4 I;\a..ﬁatai;codeSI-MAismitt@asm then how will PATNA be coded ?
SN T T sl A S5 ReHe ST AN R e IR e s
ﬁgﬁﬁ%mﬁmmmiﬁammﬁés%mm-. T
@ omso ® OSMZ @ ZOMSO W o



q bers is 60. The
tive num Sy
f four consecu
LCM ©

of ¢
e What is the sum of four numbe; ? he-ﬁrSt two IS s oy,
5. er. What i : *®qual tg ¢, ’
g;{mb &3l @1 LCM 60 &1 TETl F@raﬁwlﬂnﬁmm% urth
e

P 3 R,

s 599 ¥ LCM 609 mg%ﬁ?ﬁa%m' m%‘%.
99 ? %a, % '_
CEERK (b) 14 © 21 %M |
(@ 17 @ L

There are 80 students in a class, where number of boys are th,
6. The

: ice the
. If there are 11 qirls h . NUmbg :
ranked 20" from the top Jirs a ®ad of Surinder, how May bo;soarg'"; Stringe, |
rank ? : N y o et i, |
i 00 37 & R 9 91 S vy NI L SR
%luﬁmWﬁi?:azgm%'ahﬁaz'asmmm@? 3 2Ry
ﬁamﬁasoﬁmmaﬁ,mWﬁﬁ@mﬁﬁ@mf%%m% ‘
20%‘5{81?53"3@3381%1?8?11ﬁwmmygﬂgméﬁﬁgﬁgm%m; Wy
@ 49 (b) 51 () 53 d) 55
7.  Which of the following is not a leap yea.r ?
fFrafefed & @ S T g af TR
fegst &4 faom By wrss 5 3 -
(@ 800 - (b) 1200 © 1400 d) 2000
8. Find HCF of 48, 168 and 324,
48,168 3R 324 BT HCF J1q Y|
48,168 M3 324 T HCF B3 |
@ 12 ‘ b) 18 T © 28 d) 36
9. S Sobhg Singh is famous for
@ Paintings (b)  Music (©) Poet (d) None of the above
WRER T Rig & i uRg ¥ -
@ Ay b) Tl © @R (d) SR
H.ﬁgrfnw\mﬂmgaﬁl , P
@ AUfdam (b) Hafiz © &
CH-07/¢




10.  Which will be the 10" term in the following series -

11.

12.

i3

PR S 10a g A AN

I ) el 9 10=1 hEa 991 7

357, 363,369,.........

(a) 405 (b) 41 (0 A1 Sy
'Kargil Vijay Diwas' is celebrated on which date in India ?

@ July24 (b) July26 () August01 (d) August 03
IR e e R e T o P T €7

(a) 24 e (b) 2690 () 01 3T (d) 03 3FT
“Sraares i) feen 3193 g fan iy & veTenl e 92

@) 24 g (b) 26 TSE () 01MdH3 (d) 03 »dmH3

Three of the following four are same in a certain way and hence form a group. Find out the o
which does not belong to that group.

(@) Violet (b) Green (c) Black (d) Red

Rofiad o) § 3 99 & Yy % J T § 3R 39 PR F TP 9 o410 ¢ | 39 T I T
T S 99 99 ¥ Gafdd el o

(a) S (b) & (© P d)

oHafEys 919 &9 4 ffe ¥ 3da o 3 fird 7o w3 fon 919a e myg 576t o1 Bn fee
371 GF AT 5% HEE 51 d | |

(a) Hardt (b) IF (© & d IS

The largest natural number by which the product of three consecutive even natural number:
always divisible, is :

ki . i ST W Wpfoe Semsh 31 UAGT Had [AISd BT §,
g7
fegd: fimiret T g6 THI e
QR o 2 © 48 @ 9

3 PY



14.

womaar:de (b) Cousin (©  Grandson @ N o
a e
%nﬁwﬁ@mwmm$%$%*“ﬁmémg%%m
Fafde? e ISR
@ T © Q_ @ o
%Mﬁmxmw TSI R U H W Rt HIE 0193 a7 <t g
b) TEI' ST (@ Y3 R
(@) IO (b) d) 3T
15. Lala Lajpat Rai died protesting against which British Act/Commission 2
(a) Rowlatt Act (b)  Simon Commission
(© Bengal Regulation Act (d)  Hunter Commission
e e oifeifram/ ST T faRle R §U Tl AToveRT ot 5oy g2 o 2
(a) ceTE (b) WA DA
(¢ S e SafTaH (d) TRBHRA
forr fafer Were/afHas € fedu 9e% 38 B8 TS IR i3 9 A 2
(@) IBSMALC ' (b) FEHS HES
( TS IPHHS MAS (d) deIaHEs
16. A cantonment had arrangements for 210 soldiers for 50 days. After 30 days, 140 soldiers left the
cantonment for battle. Then after how much time the food will be consumed completely if the
consumption of food remains the same for the remaining soldiers hpexams.in
(@) 60 days (b) 47 days () 12days (d) None of the above ,
U B1a-t # 50 fai & T 210 ST & 1o ot sgawt 2R 30 & & a1g, 140 IFT A 35§ 9
& o st Bis 1 afe AW AT F v B wua TaF edl € @ feaw T & w1 e
E W THI B ST ?
@ 60feT by 47 © 12f&F d) THIBE T )
fe= 5184 feg 50 fioai B 210 firurdivi @ 37 & ygu 7 30 faat amie 140 fud), B IREHE
;az, S0 &5 IR Fiae Wl fes 3n6 o vz Tl A e R e 7, fea fld T A
Yt 3§ v I Aran 2
@ 60fes by 47fes © 12fes (d) fegat RI I A5
17. A shephard had 17 sheeps. All but nine died. How many was he left with ?
U TRAT U 17 22 | B Sea Wit 89 v & ) g ure Rt A AT ?
It A 17 351 7o 1 & & &2 R Fwdt Ha it | §F A gt gehort 765 7
@ o (b) 8 © 9 d 17
CH-07/c
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18.

20.

21.

H-07/C \
C _ P

How many ?f the following numbers are fully divisible by 1327
wmﬁmm 1;2?{@?@'1%%%’? -
e S fleStoft Fiftmiret & 132 &8 Yt 3

1 0% 132,968, 2178, 5184, 6336
B4 b) 5 (© 6

AT ?

d 7

Who was the last Governor General of India ?

(@  Warren Hastings (b) C Rajagopalachari

()  Lord Cornwallis (d) Lord Mountbatten

YR & S TR sRa a1 32

(@) daRA TS () ST

(€ dIS BHaneg d) IS Adeaed
3793 T 11T JIedad A6dS I Hl 2

(@) <'I& IATH (b) H IHIUBE

(© T98 TI&H d) B9SHETEE

A bus starts from Chandigarh. The number of men are thrice the number of women in the bus.
At Ambala 12 men leave the bus and 16 women enter the bus. Now number of men and women

are equal. In the beginning, how many passengers entered the bus ?
m@wwm%nwﬁwﬁmm&ﬁﬁmaﬁmw%laiamﬁmg,ww
gmm—a%@msqﬁmwﬁa@rw&ﬁ%lmwﬁmﬁzﬂ%ﬁﬁﬁﬁww%lgﬁaﬁ
&g 7 fpas a1 3 uaw far ar? |
mgmﬁnmalﬁnﬁamémmﬁmwmmmmmu
il S 2 833 R Ta »i3 16 wiast ¥ 9 97 it 51 92 arwl w13 wigst # fared wareg
alwﬁggﬂﬁgwm»ﬁﬂm |

@) 6 (b) 66 (© 46 @ 76

A is the mother of B; A—B means A is the brother of B; A %

+ B means . .
If A ns A is the sister of B, which of the foIIowing shows that

B means A is
B and A x B med the father

P is the materng uncle

? 7
of Q ?‘f%ﬁAlBaﬁm%;A—BWG{?—f%%A,BW%%;A%B BT 3f 2
A,

af A+B 1 AT AP A B

%aﬁTAXBma{?f%ﬁ;A'B 5 ﬁqmﬁmm%%plQmm% aﬂﬁ?ﬂ

AxB@»ﬁHéA,Bﬁg?f ' lTT TR dfap,  wamn ' @ﬁB’ﬁn@
q-N+MxP (b) P+SxN-Q

ia; p-M+NxQ RS Ee

(&

7

T.o



22.

23.

24,

25,

The average of 7, 11,15, %, 14, 21, 23515, then the valy
7,11,15 x.14,21'25$“”m15%ﬂ"m”‘:‘

7,11,15 (14,21, 25 T3 159, fea xwr g

e of x is -
— _®I
3

(b) 145 @ 12

@ 3 @ 133

During the Mahabharata War, Shakuni was killed by

(a) Bheem (b))  Arjun ()  Nakul (d)  Sahadey
TEHRA IS PARA TSN __ gRITARITOT |

@ m (b)  3fefd (© TFd (d) W

WIST3 WU BTG IS ourar Wiy famsrr )

(@ M (b) MIds © &IB (d) Ao

World War I was fought during which of the following periods ?
oA fay g Faferfea ¥ 9 frg oafl & SRm gem ut 2
ufawfenewjummfé% o ™ T3 Ifenm At 2

@ 1909-13 (b) 1914-18 (© 1919-23 d) 1923-27

The perimeter of a square is equal the perimeter of a rectangle. The perimeter of the square i
40 m. If its breadth is two-thirds of its length, then what is the area (in m?) of the rectangle ?

T T 1 o T o & TR 3 SRR S 31 i 1 R 40 A 31 AR T A
TP TS B &)-freTE &, A omad BT A (m?) RS ? »
e <991 = Wt g wifegarg @ W @ TarEe g A1 T9ar © War 40 Hicd 4 Jad feret 9T
feret Furdt w1 2 fygrt 3, 31 wifgarg w1 939E8 (m? i) 1 2

@ 100 (b) 96 () 84 (d) 121

CH-07/¢ 8



26.

20,

Statement :
The government has increase

Assumpt : i
Pons: 1 ncreasing taxes is an effective way 0 reduce smoking rates.

I People will stop smoking altogether due t0 increased taxes.

(@) Only assumption I is implicit (b) Only assumption II is implicit
(c) Eitherlorilis implicit (d) Neither Inorll is implicit
B ; W%Waﬁmﬁmm$mmﬁ?mﬁﬁ§@ﬁél
LIEG U PR Wwa@m'mﬁmﬁﬁqﬁwﬁwmél
I R 9 e & g e 8 P
() e v 1 ol &) (o) S ATl I Sfeiffe 61
(¢) TN Fgen | g AR i seFRa gl (@ H?fmmﬁiﬁmneiﬁﬁ%ﬁ%l
s gEre A Prargein it vt § werge wE fraee 3 dam T R |
o 1 A ge e g el § uerge @ R e 3 1
I 2anTTe oE e feees faeas ¥ 99 2Tl |

() rag uae 1 fsmies 3 by e uaa i famfes d
© T stiatnfenks d w3 dnfentesd

The value of 8= [8~(54-8)~{8~ (8=5 -+8)} - 10]is
B-[0=(548)=(8~ (8=58) +H10)PIAT___|
§-0~(548)=(0~ (6=5-8) +10]TWS |
(@ 5 () 20 (€ 0 d 10

d taxes on cigarettes to reduce smoking rates.

) g ] .
2 years a(o Radha's age was 4 times her son's age. 8 years after the ratio between the ages of

Raclha and her son bacomos 5 : 2. What Is Radha's present age ?

2 o] gd e ol airg s A U oy a4 T ) g o e ren SR T I BT A BT g

w2 g) oen 1 e of) i sy T g 7

2 7 ot @ € @i Qe U39 € Qg 3 4 e ol s e I w3 @R U39 9 Qg

ng,'ums:2ﬂ!ﬂ'mﬂlmrmwqunama?
() 30 ()" 40 © 42 d 44

A, i Bt

g T L o

CH-07/C 9 T—



9. Where did India last win Olympic Hockey Gold Medal ?
29.

30.

31.

32.

CH-07/C

(a) Helsinki (b) Moscow | () Tokyo (d) Melbourne
R T SR SR S Bl Ul Ugeh ol il o 2

(@ & (b) Wi (© Sl @) Ao
3193 3wt =19 GBS Il 183 NES fod fiffwr 7 -

@  Jshid b) WER (c) <G @) Nedes

A word is given below. This word is followed by four other words, one of which
by using the letters of the given word. Find the word.

A T Vs fedn T §1 39 WsE F 91E UR o TS o € R @ ue
UL b -Tg] §11 o bl &1 e J1d IR |

Jot e wae 737 fapur 3 fsnnae?mmﬁamm@%mﬁwfé@fmzjf@mt
YT T TI3 A Bl TSRO T HaET| HEE 23

COMPREHENSION - :

(@) COMPRISE (b) PENSION (c) . ONION (d) PREACH

cannot be forme

feT T w ¥ ot

A motorboat goes 24 km in 2 hours along the stream and 10 km in 1 hour against the stream. The
speed of the motorboat in kilometers per hour is :

U Hiewde 4R &1 =0 & 2 92 & 24 et oiR o & wftvepet 1 62 7 10 el Tarh &1 ez A
T fhardier ufy v I

ﬁa%@zwémzuﬁﬁamﬁ@vﬂamw%fﬁmﬁﬁammﬁa'
fa@iites yzt wier &g Neage <t o I

@ 14 (b) 10 © 11 d 12

Name of mother of Maharaja Duleep Singh, the last Maharaja of Sikh Empire, was:

(a) Mehtab Kaur (b) Jind Kaur

(c) Datar Kaur (d) Ratan Kaur
R = RIS, HERTST Geily Rig Y \rar &7 =g o :
@ R (k) fofEBR (€ TR BR d) IATDR

fﬁaﬂmé»ﬂuﬁm@,mwﬂufﬁm T H3T T &H A :

@) Hfgsadg by Ffiedq (€ T3Iddd (d) I35




- 33.

34.

35.

Find the missing term in the given series :

| aﬁmﬁﬁﬁﬁwmm:

et ot s i o g A § 8
15,22, 31,42, 55,7

@ 60 . 70 (d) 74

(b) 68 ©

5 years ago, the age of a man was 7 times the age of his son. The age of the man will be 3 times
the age of his son in five years from now. How old is the man now ?

(@ 30years (B) 40 years () 50years (d) 60 years

< o U, T e ) oy o g 1 7 T o 8 T T 4l oy 5
ﬁmaﬁswsﬁmla{awmﬁmm%?

(@ 307 (b) 40 © so@
< 7w e @ 9 8 159 € ©a @ 7 T2 1 T 3 e g e € @
Qﬂ%g@aﬁ%ma@h@aﬂ@mfrﬂé@mﬁﬁé? |

(@) 30H3 (b) 40HS () 50HE (d 60HI

(d) 60ay

Which of the following slogans was given by Netaji Subhash Chandra Bose ?

(a) Give meblood,I shall give you freedom
(b) Freedom is my birthright and I shall have it
() Defeatand failure are sometimes necessary steps of victory

(d) It'safightfor freedom, freedom from past for coming future
Yol = o 3 P & & @ W AR e o2

(a) @”H%@ﬂﬁﬁ'%mi‘m

(b) e IR o SR & oK & g8 A g

B o 3R SR S e & aawrd Her g ¢
) T8 SO B TSR @, S a1 i 3 Ry e & ol
331+ 79T 94 T & I {5l forgar amigr €3 b

@) IHNG Y6 T8, W I v vt

(b) W@Wﬂmﬁﬂmémﬁmmm|

(© m»@mmaﬁmﬁs@;@m;j@m

d) feg e € B 3, wile T 3y B wiEiz mrg el

-07/C
CH-07/ 1



36. Whenwas the construction of previous Parliament Building completed ?

37.

38.

39.

Rrea TuE Ha- &1 Ao S RIgST U2,
S AT 926 ©f @FTdt o ydt Jet At 2

(@ 1921 (b) 1927 (© 1947 (d) 1950

What is India's rank in the Gender Gap Report 2023, released by World Economic Forum ?
qcE SHFIHS BRA GRIWRI SeR 19 RO 2023 F yra sr¥s a2 2
2953 feaaTHE SaH BT ATdt 139 9 falae 2023 g gz T aga a1 3 2

(@ 122 (b)y 127 (c) 137 (d) 148

On which date is International Everest Day 2023 celebrated ?

@) May26 (b) May 28 © May?27 (d) May29
IR ot o 2023 P el B mm@T T |

(@) 26WE b) 28% © 2778 d) 297%
»3garHed Medne feen 2023 fam fi3t & Haten famr 2 |
(@ 26 M b) 28HE (c) 27w d) 29 Hel

Where was the Advantage Healthcare India (AHCI) 2023 conference held ?

(@) Mumbai (b) Kochi () Hyderabad (d) New Delhi
TSI 2 HIR ST (AHCI) 2023 THT Fal SHraiford favar a7 2

(@) HeS (b) (0 ‘W] d) T Rwh
HereA JwHad FEFT (AHCI) 2023 ST6EIA {8 Mifi3 =it areht w1t 2

(@) HgE (b) et ( dJedEw d) R

-

40. The ratio of radii of a cylinder to a cone is 1: 2 .If their heights are equal, then the ratio of their
volumes is:

T So SR TP BT BIGHT BT T 1: 2 71 U ST S ek B, A I airre oy IR :

g 2w »3 Hg ¥ »IT-F™ T 9GS 1 : 2 31 T BTa & Gt warwg 3 3t Qawt 2 e s
SETEGE *

(a) 1:3 (b) 2:3 (© 3:4 d) 4:1

CH-07/C _ 12



41.

42,

13,

. ow
(@) 24 years old was the boy 4 years ago ?

Rohit  tells hj |
: 'S son, 1 : e presen!
age is 48 years |, Was three times of your present age when you were lyorn," If Rohit's P!

AR arq (b) 8 years (c) 12 years (d) 106years
G ®, "SI R 5 g & ¥ qrerd) e g w1 T

T8, N4 3 v o o g el 7

ufy Qe ol

d
(%lzagma (b) 89 (c) 12w () 16T o e
ST 48 Am Y 31*%6' 7ie A e 9@ 3t Y o iger Qe I G Y Wl e dlaa LY
@ 2amm T IS B € G el

b) 87 (© 1278 ) 16715

3 : ,
91 working 7 hrs a day can do a work in 18 days. In how many clays will 21 men working

9 hrs a day do the same work ?
(@) 20 days (b) 21 days (c) 18 cays () 16 cays

30 TR TR 7 W12 oo vy e ol ) 1 Rt 9 g e ) 1 24 ot o e MR il
T T T B o Rt A 7 |

@ 20 &7 (b)y 21f& © 18 () 16 (&

30 wreft et fiees 8 7 2l o e 18 et R Mt ey o 1 s | 21 k] Gl 2t e
fe 9 uie < raa fefd; st i wramal ¢

(@) 20 fe® by 21fes (¢ 16k () 16 R
The number of zeros at the end of the product will be

o & ofe # X o W g

e @ g Rt frat € i

12x18x15x40x25x16x55x105 |

(@ 10 (by 9 © 0 () 6

Which one of tha following glven responses would be a meaningful order of the following waorcls 7
1 Point 2, Triangle 3, Square 4, Angle 5  Line

24y afyer e T ey o i s g 9
mﬁlfg; o Mm@ 3 N 4 ww 5 g
;,51 s — ! 3 Tt e nRInyas 1
AR fpie 3 w4, Qe 5. Ylm
(1‘) 41,548 by H27154 (€ 21,453 () 1,654,203
) 4 hae e RS R N S S )

PR “s o S B T T
»pn»m:‘t*-‘—”""“" s 1' B i M e«
R i

-07/C
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2% of x=30% of y, then Y X Is equal to
45.

46.

47.

48.

49,

uﬁ:mzz%wmo%ﬂy:xwg:
Wx?ZZ%:y?‘f}O%,giy:xa'aTaa-a:

o 15011 (b) 15:14 © 17:16
@ 1145
The ratio of width of our National flag tg jte length i
. S -
R T 0 1 S Y T 7 o
ﬁaﬂﬁﬁmmm?mé
(a) 3:5 (b) 2:3
© 2:4 (@ 3:4

What is Britain exit from European Union popularly called ?

(@)  NATOExit (b) Brexit (c)  EuroExit (d) No‘ﬁe» df These

ﬁﬁ%mm%waﬁaﬂmﬁmmwmw%z .
@ TNRE @ e © TR @ FHISE
Yol I e 2 o e § Balm I 3t afR 57

() BN b) e ~ (© FowhE (g foowi i It &l -

In a certain code, ‘GAME!' is written as ‘HZND'. How is ‘RAVI' coded in this code ? .- G
T A3 e umw &, ‘GAME' Y 'HZND' & &0 A fore o 31 59 qe TS & RAVE, B 6 eee

?

g yH o3 19, ‘GAME' § 'HZND" mﬂwa|mangAw Wé‘ i Eﬁy fapm i

(@ VIAR (b) SBWS i(g SZWJ @ szwH

CH-07/C Cel St AN




50. Who won the Wim

bledon 2022 Men's title ?

(@ Novak Djokovic

() RNadal (d) CGarin

ey ittt o7 ? ‘
m;:;w b) P e feffa
(© SRS (d) SIRA
feamas 2022 YIH @ fugE de fHimT?
(a) B AR b feasn famh faefargn
() MJIEISH (d) T 3ifgs

(b)  Nicholas Hilmy Kyrgios

A number consists of two digits. The digit at the ten's place is two times the digit at the one's place.

" The number, formed by reversing the digits is 27 less than the original number. Then the original
number is :
U G A 3 i ¥ 7 & I ITET $id T & RIF a1l 3/ 1 ) I R 1 S} Y Seeh) IS TS
T, ol T 27 HH ¢ A I TS SN |
fEq At f&9 @ »ig IR T8I TH T AETG 3 0iq T ? AEw 3 wig w R g ) wiwt § Bmar R
FTE? et Hitm WA w3 27 We Il feg net du9 9 ¢
(@) 49 (b) 94 () 63 (d) 36
2. India won the first cricket world cup on
(@) 25" June 1983 (b) 25" July 1983
(© 22" June 1983 (d) 25" June 1979
WRAA T e Rydy_ A ohary
(a) 25T} 1983 (b) 25 ams 1983
(c) 22371983 (d) 25371979
T\ ulas fyae feme sy il
(@) 2595 1983 (b) 25 STt 1983
© 2275 1983 (d) 259® 1979
H-07/c 1
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artners + France, ang
The first maritime P R UAE Feceny
53. beg Nin we.
pody of Water ®) G Whigy
@ Indian Ocea” ulf of Khambhat
@ Gulfof Oman () Gulf of Mannar
g od SR (AUS) F7 w11 & T
S g gri 3Ty
gy
o7 ?
o fag AETETR (b)  FUTT ) |
o S ES! d) ¥AR B @
gg3, @d'H »3 TEE § AHS IS TH] Ufas BINEE] Ireterss W@’HTF{EITB' ¢ feg
U R fam
f¥g Ig Ifem AL 2
() fderamaE (b) Ygre Tty
© <ty ) gty
54. If'x'means ', '+' means /', '~' means 'x, /' means '+', then 15-2 / 900+90 x 100 is :
(@ 190 (b) 180 () 90 (d) None of these
e x B~ v Bwraf o, prapf 7 BT e F AT 15-2/9004+90 x 100 BT AR
1B ? | ,
(@ 190 (b) 180 (© 90 (d) SARIADIE TE
TS ' THIHH I ', '+ THIBH '/, '~ THISE D 'y, '/ T HISE I '+, 31 15-2/900+90 x 100 &
CilEiGR]
(@) 190 (b) 180 . (© 90 (dy fogeifegadt &dt
55. Select the related number from the given alternatives
AT T famet & & weifta e &1 @
23 I fegsyut i3 Hafus dag A S= w3
N*M:14*13 2 X*Z:7?
' (@) 24*23 (b) 23*24 (© 24*26 (d) 26*23
CH-07/C



56.

57.

58.

In the following question, find out the alternative which will replace the question mark

Flow : River ::Stagnant : ?
(a) Pond (b)

T AT 7T Uy & & I Aoy o1 gar @l S U R & R OR S|
HaTE : 9l : deRa : 2

(@) dree (by auf () &I (d TR
It 3 s 74T, B feamy &3 71 yis g < & 2ar

ST &S Y332

(@ BuUz (b) T © Uud d) =fag

Rain (o) Stream (d) Canal

Ram, Mohit and Amit can complete a task in 12 days, 10 days and 15 days, respectively. In how
many days can Ram, Mohit and Amit together complete the same task ?

W, Hifgd 3R sifta we &1 &) saw: 12 @7, 10 &7 ok 15 &7 A g % ¥&a &1 3w, Aifga oiR

St e SN el I e R A W R IHd © ?
I™H, RT3 »3 »ifiz gHea 12 fos, 10 fos »32 15 fost 89 g 4 YdT 99 Age Ia| I, Hiaz »i3

WH3 S fest fSe £ 1 § Yo' 99 Ad= I&57?

@ 8 ' (b) 4 (o 2 (d 6
The sum of first five prime numbers is :

ggeil Oie 31U SATSH BT AR HT 8 ?
Ufg=hut Ua Yy Aftprrei ET 13 I

(@ 11 (b) 18 (c) 26 (d)y 28
Which one of the following is not a prime number ?

Pofaf@a & 9 S I U qsd T e § 2

Jos fosfipt fET faga Yo At A1 J 2

(@ 31 (b) 61 . © 71 o 91

Which two signs should be interchanged to make the given equation correct 7
fog g gHERU1 BT TEl 9 & 1T 5 ) gl o7 eimag & gaar sirem A1¢ ?
£F3 gre miiads § A 98T B a3 2 st § sefenr g grater 3 2

>5_5 * 50/10+35=155

(b)' *and + (c) +'and — (d) *and /

(a) *and —

17 P.T.O.
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6, then ¢
ok P w4 . ‘ 1856%,3"[ e.n”mbem -
g%%ﬁz;@@ﬁ?aﬁlﬁm@méwgﬁa1856&3%%
b o 8216 O 162432 (0 12,18 2 @ g
e ich year did India win Cricket World Cup at Indian soil -
o mﬁﬁﬂﬁﬁmm“wﬁ%m%ﬁmw
a4 e S 919 U3 3 Fore fewe aty g
@) 1983 (b) 2003 (© 2011 @ 201s

: 63 'A‘Fbur defensive football players are chasing the opposin
: directly behind the ball carrier. Jenkins and Burton are
 Jenkins and Burton. Calvin tries for the tackle but mis

g wide receiver, who has th

I W . e ball, Calvin
side by side behing Calvin,

Zeller is bepi,,

ses and falls. Burton trips. Which defeng;,
playér tackles the receiver hpexams.in E;
() Burton (b)  Zeller () Jenkins (d) Calvin "

_wmm‘fa@m@mmmmmmmwﬁmmﬂwaﬁqm
e 0 &1 S IR 9 ot e 1 1 e, SR o T 38

ﬁuﬁﬁﬁmam%m%m%aﬂvmm%laﬁmﬁﬁzm%lﬁwm
- eeet iR A Proear 2 -

(@) A b) WR © SAfbg

e 1 992 o I | faga S e
ol wE afilowrd '
@), " (b) WSI (o) TafdA . (d) aBfes

64. After Best matching, find what is in place of "?" ma‘rk.’ ‘

| :"‘tﬁinsiMint:i'_Brické.:? . e A | o
| ‘(}a‘)f-i_ Foundr_ya 7 -(b) ».A"Furnace' ©  Kin (d) Cementry

- WeRmrw WAt vem W

@RS U e o g @R

W§WW§wﬁ@ﬁ?ﬁm3aﬁév e

.

@ EER e @ .'.l’flf @ - BVU i

——

w Y %

Hore

18



65.
(@ June 04 (b) June 03 (© JuneQ2 (d)  June 01
fyy g feaw for Ry Y e ST & 2
(@) 04T (b) 0337 @ 02 (CINNVE
fme T foen fan it § watemm AT J 2
(@) 04F& (b) 03T6 (© 0246 d 01gs
66. Which is the first e-commerce company to set up solar farms in India ?
(@ Walmart (b) Amazon ()  Flipkart (d) Ebay
YRA H TIeR B R R arell Tgal S-H1TY Hu-l S A R 2
(a) dleqHre (b) S © foquere d) =
9193 €9 HSd SaH HE3 996 =%t Ufaw -amian duat fagdt 3 2
(@) <TBHIS b) AHEE (© ef¥uyage d) €
67. In which year British had their victory in Battle of Plassey ?
I & g | 3Tl &t faor farg o 7 g% ot 2
ySTH <t 37t feg »igradi <t i3 fan 7 i It it 2
(@ 1690 (b) 1748 (0 1754 (d) 1757
68. A train of length 350 m crosses a bridge of length 250 m in 20 seconds. What is the speed of the
train (in km/h) ?
350 Hiex Talt U 3 250 Hier A G B 20 s H IR Al 51 ¢ 3 i (pei/der H Fn g 2
350 Hicg Bamdt =l Jsdit 250 Hied T I T8 yB § 20 Aidet ¥ ua w99 1 It < I
fdat d daat i i)
@ 95 (b) 72 (0 108 d) 88
69. A number first increases by 10% and then decreases by 15%. The percentage decrease as a whole
is:
T TSI TR 10% P X A Tadt & o R 15% P R I A 1 9l ¢ T T F (@) v
B FN AL 2
& Hifkor ufigasi 109 =Tt S w2 g 15% weEt 31 95 i A yFmE it
@ 6.5% (b) 5.5% (© 45% d 3.0%
CH-07/¢ 19 . PTo.

On which date is World Milk Day observed ?




70.

71.

72.

Highest Civilian award of India is

(@) Ashok Ch'akra (b) Padma vibhushan

(c) Bharat Ratna (d) Padma Bhushan

YRT &1 ared ANTRS RIPR 2

() HIRclRe (d) TNl

I3 T AISEY AEfgI YIHIT I

(@ »AITIT by yeHfegne
(c) 3SI3I35 . & URHIEE ‘

Where is the largest skywalk bridge in India ?

(@) Tamilnadu (b) Kerala (c) Maharashtra (d) None of the above
HRA H 969 §S1 WH1sdid Ja Hal 8 ?
(a) dIfFRTTg (b) A © WERE ) FTHIDETE

333 S Ag 3 I AR yB fg8 3 ?
(@) IHSZSS (b) AIB (c) MHITHII ) fogst fedad &d

A train started from station A and travelled towards station B at 70 km/h . At the same time anothef]
train started from station B and started travelling to station A at 60 km/hr . After 11/2 hours they!

were still 65 km away from each other and had not crossed each other. After how many hours o

starting would they cross each other ?
WEWAﬁ%%%GﬁTWBﬁaﬂ?m%ﬁmaﬁqﬁ%m%lwwwm
2w b AT AR & M A T 60 TRPERY/HeT o1 TR o R et 1 1172 R F W
maW-WﬁGSWﬂ?mwﬁwwﬁm(CmSS)ﬁmmlm%m$ﬁﬁe_

dﬁ%aﬁéwwaﬁmmrosgﬁﬂ? |
¥ Jsaist ACHG A 3 gg I8 i3 ACHS Bég?owa@%é@mﬁgﬂ@ﬁﬂﬁﬁa
%mﬂmsgﬂga@”@wm@wﬁ. o Aﬁ;nzfﬂﬁ

11/2m’ﬁnﬁmé@ﬁagﬁgﬁmgﬂa”@ﬁaﬁﬁmﬁwm e

éﬁ%ﬂém@aﬁagﬁgwmml
10
@ 12 (b) © 8 @ 6
20
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73, If Meera is the sist

er of Jasbir, Jasbir i the wife of Parmjit and Parmiit i t, son

" Marjt, hoy ;
Jasbir related to Amarjit ? y

(a) Daughter-in-law
( Wife .
uﬁmmmﬁ%mmﬁm@%aﬁ?mwﬂm’aww
CETRCOGER i,

(b)‘ Daughter
(d Mother ‘

W % o Qﬂ |
() Lcll @ Iﬂ c
s e e ¥ 8 3, e vavs B 98 VO R @ g g
WHGHI3 8 dl AE 4 2 e
o & ® @
© wa (d) W
14, In the following, out of four wordé, three are alike and fourth s different. Find out the fourth one.
(@) Saw (b) Knife () .:Axe (d)  Screw-driver
Pt o s 319, A A § o e e o § < s 1
@ W) TR © "G @ e
fonfeys e, 99 meet ¥4, 6 9 frd 7o o3 S v 1 Fangr
@ W b ¥ © T @ U
15, 1f3¢+2y=7 and 4x—y=24 then x=y =1
1T"\Q'3x+2y=73ﬁ¥4x—y=24?|\lx—y =7
ﬁaa3x+2y=7>r@4x—y;z43i X=y =?
@ 9 (b) - 1 © _9 | @ -
I e project intted by the 96vernment tolprOVide free InterrTet cotnnections to
(20 " bEIow'pOVertY'“n_e families and connect 30,000 government nsttur* " e
) Kerala b Karnataka ’ g 04082
(0 Nagaland (@ . -{aﬁ—g
KFoN . - Sy @l g1
w@%%sﬁmmmmma:ﬁwmgﬁ
b) | = d o .
(FON 3 e 3 o - () ( , W'@'}ﬁgm
T T 9 g SR A
9 Y mmﬁmmwmémw@? e
gy - ) 3eTeq © mn@a @ P.T.0.
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77 The differe

78.

79.

80.

nce of two numbers is 1365. On dividing the larger nu
tient and the 15 as remainder. What is the smaller number ?
quo

. ﬁmWBGS%'ﬁWaﬁmmﬁﬁlﬂﬁﬁmmgﬁqm% .
m$mﬁ1smm%lmmmm%? e

@ﬁwve;?'”mwsﬁ' <St oo § 2 o 3791 39m 3“‘66313[7&3"15%6%3@3
st &1 97

mber by the smaller, we get 6 5,

The value of x for which the expressions 12 — gy and 4x+2 becomes equal is :
Xmmmm&mﬁau—exaﬁuxuwaaﬁ%:
X@ggmngélmﬂaa?su—exmwxuma@%:

@ O () 2 @ 1 d) 4

A shopkeeper sold two mobile phones for Rs 20,000 each.

The first one is sold at 10% profit ang
the other one at 10% loss. Then his

% gain or loss in this deal is :

(@) No profit no loss (b) 1% loss

() 1% gain (d) None of these

TP gwmmﬁifﬂﬂa@uﬂqzo-zommﬁéﬂlusﬁaﬁm%am 3R W BV 10% B T
1 WS W A0S Ay W R (%) R

() TDIZ Y, T B BI b) 1%TM

(© 1% ) FTHIBE
fe”agm%%ﬂm20-203?{%@@1‘%“%%%1%10%3@%@»@@10%@@%
famr 31 fem R iR R & =9 7 gars YiEH3 (%) 3

(@) ®TIE VY, & I Tal b) 1% Tat

© 1%T3 d) feIaifed ot & adi

Which company has signed a 3 billion Euro contract to supply and service freight trains in India ?

(@ Robert Bosch (b)  Schneider Electric

() Siemens (d) General Electric

g SUR ¥ URd H Arermieal @t eyl 3R Ja1 & forg 3 fafer R & ergey W sweR fFaie?
() e (b) EIES il

© GHE (d) R SRS

frat ued & 393 28 WS It & FusTE w3 T w5 3 faeinis ga ® fegargam 13 R

CIERIY, |
@ aEde A (b) FEEEg feddfed
© T ) 738 fEsaic

CH-07/C as



81.
(a) Viktor Axelsen (b) HS Prannoy
(© Weng Hong Yang (d) Prakash Padukone
TR AR 2023 T Ssfiier 1 R e Sidl & ?
(a) faTex TewsH (b) TITIUTE
@ dngTam (d) VPTG
HEHM HTACIH 2023 YsfHes fyzre fand fizm 2
(a) TededNaAEHE (b) WA YITH
(© SaTEIEE (d) YIHUEIS
82. In June 2023, which of the following state governments launched Asia’s largest, ambitious and
historic cluster development scheme ?
(@ Rajasthan (b) Bihar () Gujarat (d)- Maharashtra
o 2023 7, Pl & e w7 e 3 o 1 9 o, Tgiel oY e R
fqH ™ i1 = &t ?
(a) ISTRIM (b) foER (@ TR (d) WRRIY
16 2023 128, I5 (@i {4 feast I Haara & e €t A 3 <51, wifswm »13 fofzame s@nca
feaqm uHe Bg <igt ?
() THAES (b) foarg (© I3 (d) HWHEH
83. Inaclass % of the students are girls and rest are boys. If g of the girls aﬁd % of the boys are
absent, what part of the total number of students are present ?
T agm% 3R ST aS® B Iﬂ% agﬁimah? aﬁe@@:ﬂ%a‘rmﬁ
mm%ﬁ YT SURYT @ ?
R g feg 2 L B 5 %3 Tl T I oA L Baéa‘laamaas 3T
féfennaaﬁwzﬁfarasﬂ@faarfwmél | |
@ 3 o = e s @ 3

CH-07/c

Who won the Malaysia Masters 2023 badminton title ?

23 P.T.O.



85.

86.

87.

s the 5
wherea ed of the bus ?

ar to the sP° & 45 T C EERESUIH
he ratio of the speed of the € B'CF‘ﬁ 13
R 1 5T 30 fore g0 oo 8, TP

: a 60 H . ' 'nuteS,
In 45 mi km distance in 1 hour 30 mi

I o

S| TS 23 @ Mg wwsuz a2 @ 5°3
(@) 2:1 (b) 1:5 © 3 2
Vyhlch is the Next term in the series 1,1,23,5813.......-: :
M 11235813, H STAT Ug I I ?
=5 11235813 T IR dud fgaad ? d) 55
@ 44 b) 34 (@ 21 |
PGIMER Changi

9arh was inaugurated 60 years ago by

(@ Pt Jawahar Lg| Nehru (b)  Sardar Pratap Singh Kairon
(©) Dr Zakir Hussain

(d) Prof P N Chuttani
tﬂ“ﬂ%@iﬂﬂmmmmmmmmm@m
@ . a9 Yaw (b) e ya Rig B

O ShRE (o) TR e g
PGIMER@%@?WGOWWWWWW#T?
(@) Ufs3 Aea9 % afag (b) HITTYEY FH IS
© Brafaegis () Y udhNs ger

There are six persons Ashwin, Kiran, Komal, Dipen, Esha ang Mittal. Komal is the sister of Mittal
Kiran is the brother of Esha's husband. Dipen is the father o
i

f Ashwin ang grandfather of Mittal

There are two fathers, three brothers and a mother in the group. Who is the mother ?
(@ Ashwin (b) Kiran (c) .Komal (d) Esha
g cafa 3if, PR, I <O, <30 SN firr P, T 9 e 2 5, Sy oy
o B A &rr%q$ﬁmaﬁvﬁaa$m%lﬂq§ﬁaﬁm;ﬁq%mwﬁ%l R
aﬁ?%;% (b) m émmg(g:mﬁna @ S
©) IHS, T, i 138 351 g
wAfes, f9da,
g fema!

y ﬁh@iﬁﬁzm%{mﬁm%uﬁ?
o W= 1 Iy £ N :
31 e 7 ?wmfia?s - 18@5;;% PSR 09) g g 37
9?1 - Q 2 @ e
(a )

24
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88. Which country launched the ChatGPY tlval ‘GlgaChat= Al chatbol” ?
(a) Russla (h) China (¢) lran ()  North Korea
R &1 7 ChatGPT WRIE ‘GlgaChat- Al chatbot’ Tl s § 2
(a) w9 by (© W () ST B
forr ¥ & ChatGPT &3] ‘Gigachat- Al chalbot' B 1377
(@) ¢ b s (0 HI® ) 3o

89. Rice is which type of crop ?
(@ Kharif (b)  Rabi © zaid () Noneofabove
1 R PR ) e € 7 . i y
@ &P 0 @ © @ TREAITET
(a) e by T b (d) @Wﬁ%ﬁémﬁ ;

[ ' AN B
2§ v Wi % i
it N AN M MK i
‘ ] /0 [X
’ ‘ by ' 0 Wbt HgAe -
o 4 .|‘:i, [ 4 w Rt o e ! | (FN
/ S0 I I N \ i, Sh R A ’
'ty ' ' ! g )
3 .

90. Lyrics of ‘Ik Kuri Jihnda Naam Mohabatt' were’ wrutten by _________ g ' ,

7 I

(a) SahlrLudhlanw ol ‘ (b) Amrlta Pntam AR o

|
)
'/q‘
AT o
¥ g KT
‘.-:1
i
4.A
Ebh
gﬁ';ﬁt*f'_



ied contestants,

- A ; aker.
ts a Tlcbre

Choose One situation from the options below that best represen

(a)

(b)
(c)
(d)

At halftime, the score is tied at 2-2 in a football match:

Serena ang Maria have each secured 1 set in the game:
, , irst.
The umpire tosses a coin to decide which team will have to bat f

RCB and kkgr €ach finished at 140 all out.

¥
aﬁww%ﬁmmm%mmmﬂmﬁmmﬁwmﬁ o

3 T P T 3BT
ST Y S 21 =9 ' 1 T A o
SR &, T g et # 4 1w R

(a) mmﬁum%mmz-zawm%l
(b) %wahvrrrhm%@am%zmm%l

(©) m%%ﬁ%mmmm%%ﬁmmﬁmm AL
(d) &mwﬁﬁahE%anmomeﬁa@rmtﬁml |

TS R g vy 3 3 o ' 7% &) dt e 31 36
(a) ”ﬁﬂﬁ‘ﬁ,émﬂaﬁanéaz-zmwd@ﬂl

(b) ﬂ'é?wlém%amfémqﬁamvxgaﬂmm

(c) mmmmm%ﬁmmaﬁmm

& ufowt I3 e g9ed vah,
(d)  »IFE w3 Furg 1403 W miz Jar)

92. Who is the Prime Minister of Egypt ?
(&) Mr Mustafa Madbouly (b)  Mr Abdel Fattah el-sig;
(6 MrHosni Mubarak (d)  Mr Sharif Ismail
PP g PR E 2 ‘
(8) 9t GEIhT Al (b) 9t 3T g are-Rh)
(€ ot Sl gER® (d) 4t TP 3wy
fimg T YT zdt de 97
() HyFse wEEg ) RS T g
(© H Ina yaad () A e

CH-07/C 26 e



93.

94.

9.

CH-07/c 27

i « i b k Of .
‘ont US trip, Prime Minister Modi was gifted a boo poems by the B'dEns
his rece > !

- This

lpm":?r the work of famous poct _ -
ook 1% i icki
) c Emily Dickinson (d) E.E .
Robert Frost (b)y T.5. Eliot (© Cumm'ngs

(a)
\Wvﬂmﬂaﬂam&aﬂmﬂlﬁfﬁrﬂ, um?aﬂmmmsﬁaﬁ%%%\
ﬂftﬁlwwfﬂmm«w——*—aﬁw ! qad

o AT 0 Awasfme  © wdRe (g :
mmp»mmm,mm’mﬁfamBmar@@ y
AT Al feaymsayfoad____ digwsry ¥

(@) ggde S9AC (b) A e (©) ’m‘H?ﬂf\EHKHK (d)

Ahlawat moved 20 m to the north, then turned left ang Covered dist,
Nce of

left and moved 15 m. Then turned to the right deviatin M. Again
ongoing direction. To which direction heis travelling 2 9 by an angle of 45 deggrees h: turneg
) om the

(a) South-west (b)  South-East (©)

g @) ufyg
mzomﬁ%@m,faaﬁémwuma
3 15 i - H & TR § 39 512 TET 87 W
LECY Hieg 2 HB’HEﬂf?HT%WE%%BEﬂ Wy
BIfam fom <5 figgr b SRR TR S o
W THEafgy ¥ v
b) Tv=ygy () E33 0=y (d) UsH
“City Of Dead “ — a UNESCO World Heritage Site is situated in
@  Egypt (b)  Germany (©)  Pakistan (d) Burma
City Of Dead * - T gy faygy R R # R
@ firg ®) iR (© U @ At
"City Of Dead -Regdm fore fandimes RewhEd
(@) g ® FE (o ulsEss (@ =
P.T.O.




96. Aman drives 1o o route 2t 30 km/hr, they

, S office ng the sam
his average Speed js . 2 60 Ky gng returns home 29

(@) 40 km/hr

km/hr
© 50 km/hr (b) 45 m/

(d) None of these

@mﬁomtﬁ&- ' AKITRA
W a3t ol
m%ﬂ%ﬁaﬁwqﬁ%' TR o e e & A R TR

(a) 40Muﬁq'a g sl

o g @ TR

() 45Tl
) fooei g ad < ad
97. Select the one which is different from the other three.

(@) Bokaro (b) Jamshedpur  (¢) Bhilai (d)

A P @ ey

(a) BRI b TR (g f
RagAwdfiad il
(@) o (5) MR f

Agra
o oM

(d) frarr

98. If 6/7" of 8/5™ of a numberis 192, then 3/4” of the number i
. :. . —
af vl @ & &/531 7 677 M1 192, 6 ¥ 1 gy

— &

ﬁaafaﬂﬁW%s/sééTeﬁ?1925,3*%»{!?3/43\31

b) 77 - () 80
(@) 105 ) ; ) (@) 36 .

28
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99.

an film personalilies won the Oscar Awa

| film RRR ?
(b) A.R. Rahman

following Indi

\Which of the
for the 2022 Telugt

*Naatu Naatu'

@ M M. Keeravani
(@) Resul Pookutty (@) Bhanu Athaiya

famﬁﬂa‘»ﬂwﬂrﬁa%mer”rmaﬁ%sﬂmm?

(@) T BRAE b) TR, ISHH
© Re@ qget (d) M S |
5022 ¥ 38 e Mg Bet "aTe wre” .
ﬁﬂ%%?aﬁvm}:{gaﬁgw,m:gag“ﬁvm?é%w
@ MM et b g ' o
) fomsuga e HFED-F?'; |

rd for g
es .
t Mging| SOng f
or

f 2022 @) A T MR MR SR & 1g g T & T WRe R
‘ R At g

T ot o

at positions of multiples of fi

it o rePlaced by digit 1
_ 2. How many alphabets



